Project Reference No.: BAC1-2023-10-078 Supply and Delivery of Sutures for Charity In Patients - CY2024 - Framework Agreement under Public Bidding

	AGENCY'S REQUIREMENTS]	BID PROPOSAL			
Item No.	Item Desription	Qty	UOM	Unit Cost	Total Cost	Bidder's Specifications	Brand	Unit Cost	Total Cost	Remarks
1	Suture, sterile, non-absorbable, braided natural, Silk 0 strands, at least 24 inches (approximately 60cm) in length, at least 10 strands per packet	3,204	рс	205.49	658,389.96					
2	Suture, sterile, non-absorbable, braided natural, Silk 2-0 strands, at least 24 inches (approximately 60cm) in length, at least 10 strands per packet	7,236	рс	191.67	1,386,924.12					
3	Suture, sterile, non-absorbable, braided natural, Silk 3-0 strands, at least 24 inches (approximately 60cm) in length, at least 10 strands per packet	5,292	рс	191.67	1,014,317.64					
4	Suture, sterile, non-absorbable, braided natural, Silk 4-0 strands, at least 24 inches (approximately 60cm) in length, at least 10 strands per packet	4,824	рс	191.67	924,616.08					
5	Suture, sterile, non-absorbable, braided natural, Silk 2-0, at least 30 inches (approximately 75cm) in length, with 26mm 1/2 circle, taper point needle SH or equivalent	5,004	рс	296.65	1,484,436.60					
6	Suture, sterile, non-absorbable, braided natural, Silk 3-0, at least 30 inches (approximately 75cm) in length, with 26mm 1/2 circle, taper point needle	5,472	рс	170.83	934,781.76					
7	Suture, sterile, non-absorbable, braided natural, Silk 4-0, at least 30 inches (approximately 75cm) in length, with 22mm 1/2 circle, taper point round needle	5,076	рс	170.83	867,133.08					
8	Suture, sterile, non-absorbable, braided natural, Silk 2-0, at least 30 inches (approximately 75cm) in length, with 24mm 3/8 circle, reverse cutting needle	1,512	рс	227.21	343,541.52					
9	Suture, sterile, non-absorbable, braided natural, Silk 3-0, at least 30 inches (approximately 75cm) in length, with 19mm 3/8 circle, reverse cutting needle	936	рс	159.15	148,964.40					
10	Suture, sterile, non-absorbable, braided natural, Silk 4-0, at least 30 inches (approximately 75cm) in length, with 19mm 3/8 circle, reverse cutting needle	432	рс	150.82	65,154.24					

Project Reference No.: BAC1-2023-10-078 Supply and Delivery of Sutures for Charity In Patients - CY2024 - Framework Agreement under Public Bidding

	AGENCY'S REQUIREMENTS					1	BID PROPOSAL			
Item No.	Item Desription	Qty	UOM	Unit Cost	Total Cost	Bidder's Specifications	Brand	Unit Cost	Total Cost	Remarks
11	Suture, sterile, non-absorbable, braided natural, Silk 6-0, 18inches (approximately 45cm) in length, 11mm 3/8 circle, reverse cutting needle	3,024	рс	416.67	1,260,010.08					
12	Suture, sterile, extra long-term absorbable, monofilament synthetic, made of poly-4- hydroxybutyrate, size 0, 150cm looped suture length, 40mm 1/2 circle round bodied needle	972	рс	620.33	602,960.76					
13	Suture, sterile, extra long-term absorbable, monofilament synthetic, made of poly-4- hydroxybutyrate, size 2-0, with 150cm suture length, 26mm 1/2 circle round bodied needle	972	рс	579.75	563,517.00					
14	Suture, sterile, midterm synthetic, absorbable, monofilament, dyed, poliglecaprone or equivalent, 2-0 at least 27 inches (approximately 70cm) in length, with 1/2 circle, 26mm taper point round needle	972	рс	527.78	513,002.16					
15	Suture, sterile, midterm synthetic, absorbable, monofilament, undyed, poliglecaprone or equivalent, 3-0 at least 27 inches (approximately 70cm) in length, with 1/2 circle, 26mm taper point round needle	972	рс	500.00	486,000.00					
16	Suture, sterile, monofilament, antibiotic impregnated, triclosan coated, undyed, poliglecaprone or equivalent, 4-0, at least 27 inches (approximately 70cm) in length, with 19mm 3/8 circle, reverse cutting needle	972	рс	611.11	593,998.92					
17	Suture, sterile, natural absorbable, treated and coated with glycerol containing solution and chrome, 0, at least 27 inches (approximately 70cm) in length, with 36mm 1/2 circle round body needle	288	рс	152.62	43,954.56					
18	Suture, sterile, natural absorbable, treated and coated with glycerol containing solution and chrome, 2-0, at least 27 inches (approximately 70cm) in length, with 36mm 1/2 circle round body needle	720	рс	120.73	86,925.60					

Project Reference No.: BAC1-2023-10-078 Supply and Delivery of Sutures for Charity In Patients - CY2024 - Framework Agreement under Public Bidding

	AGENCY'S REQUIREMENTS]	BID PROPOSAL			
Item No.	Item Desription	Qty	UOM	Unit Cost	Total Cost	Bidder's Specifications	Brand	Unit Cost	Total Cost	Remarks
19	Suture, sterile, natural absorbable, treated and coated with glycerol containing solution and chrome, 3-0, at least 27 inches (approximately 70cm) in length, with 26mm 1/2 circle round body needle	288	рс	109.45	31,521.60					
20	Suture, sterile, non-absorbable, surgical, stainless steel wire size 1, at least 18 inches (approximately 45cm) in length	648	рс	2,153.56	1,395,506.88					
21	Suture, sterile, non-absorbable, surgical, stainless steel wire size 5, at least 18 inches (approximately 45cm) in length	648	рс	2,207.28	1,430,317.44					
22	Suture, sterile, surgical monofilament polypropylene, size 0, at least 30 inches (approximately 75cm) in length, with 40mm 1/2 circle taper point needle, CT or equivalent	1,908	рс	514.86	982,352.88					
23	Suture, sterile, surgical monofilament polypropylene, size 2-0, at least 36 inches (approximately 90cm) in length, with double arm, 26mm 1/2 circle, taper point needle, SH or equivalent	2,016	рс	776.46	1,565,343.36					
24	Suture, sterile, surgical monofilament polypropylene, size 3-0, at least 30 inches (approximately 75cm) in length, with 26mm 1/2 circle, taper point needle, SH or equivalent	2,268	рс	737.39	1,672,400.52					
25	Suture, sterile, surgical monofilament polypropylene, size 4-0, at least 30 inches (approximately 75cm) in length, with 17mm 1/2 circle, taper point needle, RB1 or equivalent	2,232	рс	1,152.88	2,573,228.16					
26	Suture, sterile, surgical monofilament polypropylene, size 5-0, at least 30 inches (approximately 75cm) in length, with 17mm 1/2 circle, taper point needle, RB1 or equivalent	1,908	рс	888.81	1,695,849.48					
27	Suture, sterile, surgical monofilament polypropylene, size 5-0, at least 30 inches (approximately 75cm) in length, with double arm, 13mm 1/2 circle, taper point needle, RB2 or equivalent	2,520	рс	971.16	2,447,323.20					

Project Reference No.: BAC1-2023-10-078 Supply and Delivery of Sutures for Charity In Patients - CY2024 - Framework Agreement under Public Bidding

	AGENCY'S REQUIREMENTS]	BID PROPOSAL	1		
Item No.	Item Desription	Qty	UOM	Unit Cost	Total Cost	Bidder's Specifications	Brand	Unit Cost	Total Cost	Remarks
28	Suture, sterile, surgical monofilament polypropylene, size 6-0, at least 24 inches (approximately 60cm) in length, with double arm, 9.3mm 3/8 circle, taper point needle, BV1 or equivalent	4,932	рс	942.05	4,646,190.60					
29	Suture, sterile, surgical monofilament polypropylene, size 6-0, at least 24 inches (approximately 60cm) in length, with double arm, 13mm 1/2 circle, taper point needle, RB2 or equivalent	5,364	рс	1,428.16	7,660,650.24					
30	Suture, sterile, surgical monofilament polypropylene, 7-0, with double arm, at least 30 inches (approximately 75cm) in length, 9.3mm 3/8 circle, cardiovascular needle, everpoint BV1 or equivalent	1,980	рс	1,887.90	3,738,042.00					
31	Suture, sterile, surgical, monofilament polypropylene with cardiovascular tungsten rhenium needle, 7-0 3/8 circle taper point 8mm needle	1,908	рс	1,887.90	3,602,113.20					
32	Suture, surgical monofilament polypropylene, 10-0 straight trans-chamber needle, 16mm spatulated	1,800	рс	2,832.50	5,098,500.00					
33	Suture, surgical monofilament polypropylene, mesh 3" x 5"-6" (7.5cm x 12.5-15cm)	636	рс	2,712.33	1,725,041.88					
34	Suture, warp- knitted monofilament polypropylene, lighweight mesh 10 x 15 cm	144	рс	3,499.39	503,912.16					
35	Suture, warp- knitted monofilament polypropylene, lighweight mesh 7.5 x 15 cm	300	рс	3,085.17	925,551.00					
36	Suture, sterile, surgical, braided, coated polyester 2- 0, at least 30 inches (approximately 75cm) in length, with 17mm 1/2 circle needle, RB1 or equivalent	324	рс	3,934.04	1,274,628.96					
37	Suture, sterile, surgical, braided, coated polyester 2-0, at least 30 inches (approximately 75cm) in length, with 26mm 1/2 circle needle, SH or equivalent	324	рс	5,934.04	1,922,628.96					

Project Reference No.: BAC1-2023-10-078 Supply and Delivery of Sutures for Charity In Patients - CY2024 - Framework Agreement under Public Bidding

	AGENCY'S REQUIREMENTS]	BID PROPOSAL			
Item No.	Item Desription	Qty	UOM	Unit Cost	Total Cost	Bidder's Specifications	Brand	Unit Cost	Total Cost	Remarks
38	Suture, sterile, surgical, Cotton, 2-0, at least 18 inches (approximately 45cm) in length, with at least 10 strands	31,752	рс	59.94	1,903,214.88					
39	Suture, sterile, surgical, Cotton, 3-0, at least 18 inches (approximately 45cm) in length, with at least 10 strands	15,588	рс	59.94	934,344.72					
40	Suture, sterile, surgical, Cotton, 4-0, at least 18 inches (approximately 45cm) in length, with at least 10 strands	13,788	рс	59.94	826,452.72					
41	Suture, sterile, surgical, black, monofilament polyamide Nylon, 3-0, at least 18 inches (approximately 45cm) in length, with 19mm 3/8 circle cutting needle, PC5 or equivalent	5,184	рс	217.17	1,125,809.28					
42	Suture, sterile, surgical, black, monofilament polyamide Nylon, 4-0, at least 18 inches (approximately 45cm) in length, with 19mm 3/8 circle, reverse cutting needle, PS2 or equivalent	5,076	рс	212.88	1,080,578.88					
43	Suture, sterile, surgical, black, monofilament polyamide Nylon, 5-0, at least 18 inches (approximately 45cm) in length, with 16mm 3/8 circle cutting needle, PC-3 or equivalent	4,896	рс	249.36	1,220,866.56					
44	Suture, sterile, surgical, black, monofilament polyamide Nylon, 9-0, at least 5 inches (approximately 13cm) in length, with 5mm 3/8 circle taper point needle, BV130-4 or equivalent	936	рс	1,430.00	1,338,480.00					
45	Suture, sterile, surgical, black, monofilament polyamide Nylon, 10-0, at least 12 inches (approximately 30cm) in length, with double arm, with 6.5mm 3/8 circle spatulated, reverse cutting needle (for SOIR) Brady	3,312	рс	433.33	1,435,188.96					
46	Suture, sterile, surgical, blue, Pacing wire, stainless steel, 2-0, at least 24 inches (approximately 60cm) in length, with double arm: (1) 26mm 1/2 circle round bodied and (2) 90mm straight needles	648	рс	1,134.83	735,369.84					

Project Reference No.: BAC1-2023-10-078 Supply and Delivery of Sutures for Charity In Patients - CY2024 - Framework Agreement under Public Bidding

	AGENCY'S REQUIREMENTS					1	BID PROPOSAL			
Item No.	Item Desription	Qty	UOM	Unit Cost	Total Cost	Bidder's Specifications	Brand	Unit Cost	Total Cost	Remarks
47	Suture, sterile, surgical, Polydioxanone with Triclosan, size 0, 60 inches (approximately 150cm) looped suture, with 48mm 1/2 circle taper point needle	3,384	рс	605.16	2,047,861.44					
48	Suture, sterile, surgical, Polydioxanone, size 0, 60 inches (approximately 150cm) looped suture, with 40mm 1/2 circle taper point needle, MO2 or equivalent	3,060	рс	743.99	2,276,609.40					
49	Suture, sterile, surgical, Polydioxanone, size II 2-0, at least 27 inches (approximately 70cm) in length, with 26mm 1/2 circle taper point needle	1,008	рс	865.28	872,202.24					
50	Suture, sterile, surgical, Polydioxanone, size II 5-0, at least 30 inches (approximately 75cm) in length, with double arm 13mm 1/2 circle taper point needle	1,008	рс	1,201.67	1,211,283.36					
51	Suture, sterile, surgical, Polydioxanone, size II 6-0, at least 30 inches (approximately 75cm) in length, with double arm 13mm 1/2 circle taper point needle	972	рс	1,773.89	1,724,221.08					
52	Suture, sterile, surgical, absorbable, composed of purified connective tissue, size 2-0, at least 27 inches (approximately 70cm) in length with 26mm 1/2 circle tapered round - bodied atraumatic needle	3,168	рс	220.20	697,593.60					
53	Suture, sterile, surgical, synthetic, coated, absorbable, glycolide-L lactide (90/10) co-polymers, size 0, at least 36 inches (approximately 90cm) in length, with 36mm 1/2 small to medium half needle	9,612	рс	318.20	3,058,538.40					
54	Suture, sterile, surgical, synthetic, coated, absorbable, glycolide-L lactide (90/10) co-polymers, size 0, at least 36 inches (approximately 90cm) in length, with 36mm 1/2 circle taper point needle	13,644	рс	318.20	4,341,520.80					

Project Reference No.: BAC1-2023-10-078 Supply and Delivery of Sutures for Charity In Patients - CY2024 - Framework Agreement under Public Bidding

	AGENCY'S REQUIREMENTS					1	BID PROPOSAL			
Item No.	Item Desription	Qty	UOM	Unit Cost	Total Cost	Bidder's Specifications	Brand	Unit Cost	Total Cost	Remarks
55	Suture, sterile, surgical, synthetic, coated, absorbable, glycolide-L lactide (90/10) co-polymers, size 1, at least 36 inches (approximately 90cm) in length, with 36mm 1/2 circle taper point needle	2,592	рс	355.00	920,160.00					
56	Suture, sterile, surgical, synthetic, coated, absorbable, glycolide-L lactide (90/10) co-polymers, size 2-0, at least 36 inches (approximately 90cm) in length, with 36mm 1/2 circle round-bodied needle, taper cut or equivalent	9,720	рс	296.22	2,879,258.40					
57	Suture, sterile, surgical, synthetic, coated, absorbable, glycolide-L lactide (90/10) co-polymers, size 2-0, at least 27 inches (approximately 70cm) in length, with 26mm 1/2 circle taper point needle	2,016	рс	290.42	585,486.72					
58	Suture, surgical, synthetic, absorbable, sterile, copolymers, 3-0 with 1/2 circle taper point 26mm, coated	10,440	рс	275.38	2,874,967.20					
59	Suture, surgical, synthetic, absorbable, sterile, copolymers, 3-0 with 1/2 circle taper point 26mm, RB1	1,980	рс	303.16	600,256.80					
60	Suture, sterile, surgical, synthetic, coated, absorbable, glycolide-L lactide (90/10) co-polymers, size 4-0, at least 27 inches (approximately 70cm) in length, with 17mm 1/2 circle taper point needle	11,484	рс	402.71	4,624,721.64					
61	Suture, sterile, surgical, synthetic, coated, absorbable, glycolide-L lactide (90/10) co-polymers, size 4-0, at least 27 inches (approximately 70cm) in length, with 19mm 3/8 circle reverse cutting needle PC5	11,988	рс	409.87	4,913,521.56					
62	Suture, sterile, surgical, synthetic, coated, absorbable, glycolide-L lactide (90/10) co-polymers, size 5-0, at least 27 inches (approximately 70cm) in length, with 17mm 1/2 taper point round needle RB1	1,944	рс	533.30	1,036,735.20					

Project Reference No.: BAC1-2023-10-078 Supply and Delivery of Sutures for Charity In Patients - CY2024 - Framework Agreement under Public Bidding

Suture, sterile, sur glycolide-L lactide spatulated Suture, sterile, sur glycolide-L lactide least 27 inches (ap 17mm 1/2 taper p spatulated Suture, surgical, sy	rgical, synthetic, coated, absorbable, e (90/10) co-polymers, size 5-0, rgical, synthetic, coated, absorbable, e (90/10) co-polymers, size 6-0, at oppoximately 70cm) in length, with point round needle double	Qty 1,224 324	DOM pc	Unit Cost 1,268.75	Total Cost 1,552,950.00	Bidder's Specifications	BID PROPOSAL Brand	Unit Cost	Total Cost	Remarks
Suture, sterile, sur glycolide-L lactide spatulated Suture, sterile, sur glycolide-L lactide least 27 inches (ap 17mm 1/2 taper p spatulated Suture, surgical, sy polymers, 7-0 mic	rgical, synthetic, coated, absorbable, e (90/10) co-polymers, size 5-0, rgical, synthetic, coated, absorbable, e (90/10) co-polymers, size 6-0, at oproximately 70cm) in length, with point round needle double	1,224	рс	1,268.75		Bidder's Specifications	Brand	Unit Cost	Total Cost	Remarks
63 glycolide-L lactide spatulated Suture, sterile, sur glycolide-L lactide least 27 inches (ap 17mm 1/2 taper p spatulated Suture, surgical, sy polymers, 7-0 mic	e (90/10) co-polymers, size 5-0, rgical, synthetic, coated, absorbable, e (90/10) co-polymers, size 6-0, at pproximately 70cm) in length, with point round needle double				1,552,950.00					
glycolide-L lactide least 27 inches (ap 17mm 1/2 taper p spatulated Suture, surgical, sy polymers, 7-0 mic	e (90/10) co-polymers, size 6-0, at oproximately 70cm) in length, with point round needle double	324	рс	1.244.58						i
65 polymers, 7-0 mic	vnthetic, absorbable, sterile, co-			,	403,243.92					
	ropoint spatulated 1/2 circle taper	2,988	рс	1,853.50	5,538,258.00					
	ynthetic absorbable, sterile, co- tulated 1/2 circle taper point	2,988	рс	2,746.66	8,207,020.08					
67 Premipatch Pledge	et 6x3x1.5	936	рс	705.10	659,973.60					
68 Premipatch Pledge	et 3x3x1.5	936	рс	705.10	659,973.60					
Appro	oved Budget for the Con	tract			119,156,393.88	Total Bid Off	er			